19006€ 3AIND DNILNNOW

wodspedipny AMM

AovdIdny Jusugedop Bupesulus YvIaNY ous

SLLEE6SGL(D)LET "xey 0 JUBSUO) UBLJIIM BY} JNOYJ|M U0} 124 |eJous|
HoLEe: 124 oy padH Jou s
. ununv U43N 344 *MVdiany Jo Apsadoud
i z ,,u -m_mwu:mh._m 8y 5| ‘uoBJBY4 UMOYS LOjjewI0 U] Bl pue jupd Sjy|
wvdiany NIVAQNY LHORACD) ©

09X 0L &

(XZ] 9XGIW




M6Ex20 [Lx)

ﬂ
@@@@@@6@(&

O

M6x20 (Lx)

360°

© COPYRIGHT AUDPACK AUDIPACK
This print and the information shown thereon, is the g‘.fﬁ’é’.i!ﬁ:g:;pzeue
property of AUDIPACK. the Netherlands
It may not be delivered to others nor reproduced for tal. +31(0)795931671
general I circulation without the written consent of fax. +31(01795933115
the AUDIPACK engineering department AUDIPACK

www.Audipack.com

MOUNTING GUIDE 390061




Universal Pipeset / Rohrensatz Universel g]
390061 Tube Universal /  Universele Buizenset Mﬂ,,ﬂ&a" G*w

2Pfg 897/01.93

115
I_!EIII
A °
£
Detail A g -
€
il E ~
@ N~
: N
~ O
S—]
() DIN 16168 - M8 x 75
DIN 571 - M8 x 80
Wood _
Holz 3 "_;‘..".3'1-"’:\ ,__.}_:-‘_:\__w Coner
Bois o—"" o
Hout o e
4X DIN 571 -M&8 x 80 4.6 4X DIN 16168 — M8x75

(& COPYRIGHT AUDIPALCK
Thig print and the information shown thereon, is the
property of AUDIFACK.
It may nat be delivered fo athers nor reproduced for
general circulation without the written consent of

the AUDIPACK engineering department

AUDIPACK

AUDIPACK

Industriestraat 2
2751 4T Maerkapelle
the Metherlands

tel, +31L]TR5931671
fax. +31(0)795933115

wWwi Audipack.com






